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Algebraic Methods Mixed Exercise 7



4 f x 2 3 2 2 17 15

f 3 Z 333 2 35 17 3 15
54 18 51 t 15

0

By factor theorem x 3 is a factor of food

2 2 4 5

x 3 2 3 2 2 17 1 15

2 3 6 2

4 2 17
4 2 Roc

5 1 15
5 x t i 5

Ans x 3 2 2 tax 5

5 f x K t 4 2 3 c 18

f z 23 4 25 362 18

8 16 G 18

0

By factor theorem x 2 is a factor of thy
se t 6 1 9

X 2 x 4 2 3 18
3 2 2

76 19 Getz 6 2 3
6 2 12K

Ans x 2 x 135 18
9k 18



6 f x Zx t 3 2 18 1 8

f z 21233 3 25 186 8
16 1 12 361 8

0

s x Z is a factor of f Cx

2 2 7 4
2C Z 2 3 3 2 18 8

2 3 4 2

7 2 182
7 2 14

4 8
4 182

C a x 2 2 2 7 4

x 2 Zx 1 octet

7 f x 23 3 2 tex to

f z 23 3 2
2 2K 10 0

8 12 1 2K 10 TO

2K 14

K 7

8 f x 2x't poc tq
fC 3 2C 35 3ptq O

18 3 p tq o



f a 2C4Tt4ptq 21

32 tap q 21

II t 4ps q O

7 Tp O

7 7p
p 1

Sub for pin It t 4 q to

q 15

8b f x 2 2 x 15

2x 5 x 3


